# On the Exponential Diophantine Equation $3^{\mathrm{x}}-2.5^{\mathrm{y}}=\mathrm{z}^{2}$ 

Rathindra Chandra Gope ${ }^{I^{*}}$ and Md. Abdullah Bin Masud ${ }^{2}$<br>${ }^{1}$ Department of Computer Science \& Engineering North East University Bangladesh, Sylhet. E-mail: rcgope@neub.edu.bd<br>${ }^{2}$ Department of Computer Science \& Engineering Shanto-Mariam University of Creative Technology, Dhaka. E-mail: masud05math@smuct.edu.bd<br>*Corresponding author.

Received 3 October 2022; accepted 20 December 2022
ABSTRACT
In this paper, we introduce the notion of the exponential Diophantine equation. We also did some characterisations of the Diophantine equation. In this article, we study and establish the theorem of the Diophantine equation $3^{x}-2.5^{y}=z^{2}$ where $x, y$ and $z$ are non-negative integers which have no non-negative solution.

Keywords: Diophantine equation; factoring method; modular arithmetic method.
AMS Mathematics Subject Classification (2010): 11D61

## 1. Introduction

Many authors have been studied Diophantine equations. Thongnak, Chuayan and Kaewong [1] have recently studied exponential Diophantine equation. Thongnak, Chuayan and Kaewong has motivated us to make foundation of another exponential Diophantine equation $3^{x}-2.5^{y}=z^{2}$.The exponential diophantine equation is the diophantine equation where the unknown variables are exponents. On the other hand, many researchers studied the equations involving the exponential diophantine equation. For example, in 2007, the exponential diophantine $2^{x}+5^{y}=z^{2}$ was proved by Acu [2] and which has two non-negative integer solutions such as $(x, y, z)=(3,0,3)$ and $(x, y, z)=(2,1,3)$. We refer the reader to [13] for the diophantine equations $4^{x}+7^{y}=z^{2}$ and $4^{x}+11^{y}=z^{2}$ which have no solution. Interestingly, Thongnak et al. [12] have introduced the exponential Diophantine equation $2^{x}-3^{y}=z^{2}$ and found the only two nonnegative integers $(x, y, z)=(1,0,1)$ and $(x, y, z)=(2,1,1)$. In 2021, Thongnak et al. [11] have proved the vital exponential Diophantine equation $7^{x}-5^{y}=z^{2}$ which has only one trivial solution $(x, y, z)=(1,0,1)$. The work of Thongnak et al. [10, 4] plays an important role to proof the individual result of exponential diophantine equation.
2. Preliminary

A Diophantine equation is a polynomial equation that takes only integer values. The famous general equation $p^{x}+q^{y}=z^{2}$ has many forms and many authors already established the various theorem depending on this famous general equation. In this paper, we have studied the exponential Diophantine equation with the favor of the following three Lemmas which is already proved by Thongnak, Chuayan and Kaewong [1].

Lemma 2.1. If x is integer, then $x^{2} \equiv 0 \bmod 4$ and $x^{2} \equiv 1 \bmod 4$.

Lemma 2.2. 3 is not a common divisor of both $5^{k}-z$ and $5^{k}+z$ where k and z are non-negative integers.

Lemma 2.3. If x is an integer, then $x^{2} \equiv 0,1(\bmod 3)$.

## 3. Main result

Theorem 3.1. The exponential Diophantine equation $3^{x}-2.5^{y}=z^{2}$ where $x, y$ and $z$ are non-negative integers which is not solvable.
Proof: Let us consider that $x, y, z \in \mathrm{Z}^{+} \bigcup\{0\}$, where $\mathrm{Z}^{+}$is the set of all positive integers such that

$$
\begin{equation*}
3^{x}-2.5^{y}=z^{2} \tag{1}
\end{equation*}
$$

To prove the above equation we consider the four cases:
Case 1: $x=y=0$. In this case, it is obvious that the equation (1) has no any solution because $z^{2}=-1$, which is not possible.

Cas2e 2: $x>0$ and $y=0$. Then the equation (1) becomes $3^{x}-2=z^{2}$. Thus we have $z^{2} \equiv-1(\bmod 4)$ or $z^{2} \equiv 3(\bmod 4)$. By Lemma 2.1 which is not possible.

Case 3: $x=0$ and $y>0$. The equation (1) becomes $1-2.5^{y}=z^{2}$. This gives the result that $z^{2}<0$ and it is clear that this case is also impossible.

Case 4: $x>0$ and $y>0$. Now from the equation (1) we get $z^{2} \equiv(-1)^{x}(\bmod 3)$ and then by Lemma 2.3, it is obvious that $x$ is even. If we take $x=2 k$, for all $k \in \mathrm{Z}^{+}$. Then the equation (1) gives the result that:

$$
3^{2 k}-z^{2}=2.5^{y} \text { and this implies }
$$

$$
\begin{equation*}
\left(3^{k}\right)^{2}-z^{2}=2.5^{y} \text { or }\left(3^{k}-z\right)\left(3^{k}+z\right)=2.5^{y} \tag{2}
\end{equation*}
$$

Now by Lemma 2.2, we can explain four possible subcases which are as follows:
Subcase 4.1: $\left(3^{k}+z\right)=2.5^{y}$ and $\left(3^{k}-z\right)=1$. Adding these two equations we get $\left(3^{k}-z\right)+\left(3^{k}+z\right)=1+2.5^{y}$ and then we have $2.3^{k}=1+2.5^{y}$, which is not possible. Again, $\left(3^{k}-z\right)=1$ is implies $3^{k}-1=z$ and putting this value in $\left(3^{k}+z\right)=2.5^{y}$ implies that $2\left(3^{k}-3^{y}\right)=1$ which is also impossible.

Subcase 4.2: $\left(3^{k}-z\right)=2$ and $\left(3^{k}+z\right)=5^{y}$. Adding these two equations we have $2.3^{k}=2+5^{y}$ implies $2\left(3^{k}-1\right)=5^{y}$ which is impossible.

Subcase 4.3: $\left(3^{k}-z\right)=5^{y}$ and $\left(3^{k}+z\right)=2$. Since $\left(3^{k}+z\right)=2$, we have $z=2-3^{k}$. Obviously, $k>0$ and it gives $z<0$. This is impossible.

Subcase 4.4: $\quad\left(3^{k}-z\right)=2.5^{y}$ and $\left(3^{k}+z\right)=1 \quad$.Since $\quad\left(3^{k}+z\right)=1$, this implies $z=1-3^{k}$. It is clear that if $k>0$, then $z<0$ which is impossible.

Hence $3^{x}-2.5^{y}=z^{2}$ exponential Diophantine equation.
3. Conclusion

In this study, we have presented the basic theorems in Number theory such as the factoring method and modular method, to solve the exponential Diophantine equation $3^{x}-2.5^{y}=z^{2}$.Finally, we have proved that the exponential Diophantine equation $3^{x}-2.5^{y}=z^{2}$ in which $x, y$ and $z$ are non-negative integers which has no non-negative solution.

Acknowledgements. The author gratefully acknowledges the reviewer's valuable comments and suggestions to improve the paper.

## REFERENCES

1. S.Thongnak, W.Chuayjan and T.Kaewong, On the exponential Diophantine equation $3^{x}-2.5^{y}=z^{2}$, where $\mathrm{x}, \mathrm{y}$ and z are non-negative integers, Annals of Pure and Applied Mathematics, 25(2) (2022) 109-188.
2. D.Acu, On a Diophantine equation $2^{x}+5^{y}=z^{2}$, General Mathematics, 15(4) (2007) 145-148.
3. R.Keskin, Solutions of some quadratic Diophantine equations, Computers and Mathematics with application, 60 (2010) 2225-2230.
4. S.Thongnak, W.Chuayjan and T.Kaewong, On the Diophantine equation $7^{x}-2^{y}=z^{2}$, where $x, y$ and $z$ are non-negative integers, Annals of Pure and Applied Mathematics, 25(2) (2022) 63-66.
5. S.Kumar, D.Gupta and H.Kishan, On the non-linear Diophantine equations $61^{x}+67^{y}=z^{2}$ and $67^{x}+73^{y}=z^{2}$, Annals of Pure and Applied Mathematics, 18(1) (2018) 91-94.
6. P.Mihailescu, Primary cyclotomic units and a proof of Catalan's conjecture, J. Reine Angew Math,. 572(2004) 167-195.
7. B.Sroysang, On the Diophantine equation $8^{x}+13^{y}=z^{2}$, International Journal of Pure and Applied Mathematics, 90(4) (2014) 69-72.
8. B.Sroysang, On the Diophantine equation $3^{x}+5^{y}=z^{2}$, International Journal of Pure and Applied Mathematics, 81(4) (2012) 605-608.
9. B.Sroysang, On the Diophantine equation $31^{x}+32^{y}=z^{2}$, International Journal of Pure and Applied Mathematics, 90(4) (2014). 609-612.
10. S.Thongnak, W.Chuayjan and T.Kaewong, On the Diophantine equation $11 \bullet 3^{x}+11^{y}=z^{2}$, Annals of Pure and Applied Mathematics, 25(1) (2022) 51-54.
11. S.Thongnak, W.Chuayjan and T.Kaewong, The solution of the exponential diophantine equation $7^{x}-5^{y}=z^{2}$, Mathematical Journal, 66(7) (2021) 62-67.
12. S.Thongnak, W.Chuayjan and T.Kaewong, On the exponential Diophantine equation $2^{x}-3^{y}=z^{2}$, South Asian Journal of Science, 7(1) (2019) 1-4.
13. A.Suvarnamani, A.Singta and S.Chotchaisthit, On two Diophantine equation $4^{x}+7^{y}=z^{2}$ and $4^{x}+11^{y}=z^{2}$, Science and Technology RMUTT Journal, 1(1) (2011) 25-28.
